29. Matrix Elementary Row Operation Elementary Matrix

1 0 1 -
Add (-1) times row two to row one. E =

3 -1 o 1

1 0 _ 10
Add -3 times row one to row two. E =

0 -1 13 1

10 Multipl two by -1 E, 10
row -1 =

0 1 Py 0 -1

Because E;E,E A = I,, one way to factor 4 is as follows.

AZEI_IE_IE_IZIIIID] 0
27 7o 1|3 1fle -

Copyright© 2011 Larson Texts, Inc. All rights reserved.

The printing of data from this product is authorized for individual use only. Distribution or publication of printouts in the absence of
specific authorization from Cengage Learning is expressly forbidden.



